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I
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infinitely many solutions

b) ( it infinitely many solutions

) no solution

( iii ) unique solution



2) a ) yes ,
3×1

b) no (3×01)×(03×3)Item
c) no (3×20)×(30×3)

I

not equal

d) yes ,
3×3

e) yes ,
2×3



3) a ) y=ax2tbxtC
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C) a plane ,
since v and w

are not scalar
multiples

,
all

their linear combinations spa a

plane , and part b) shows u

is in that plane -



5) a) Suppose Ax=O .
Then if A

had nonzero determinant A would

be invertible ,
and then applying

A
"

to both sides ,

x= A
'

CAx ) = A -401=0

b) C I
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Then this shows that , no matter

what order the rows go in ,
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